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Primary Education Learning Level Evaluation -2025
Class-5
Subject- English
sample paper
Time : 2.30 Hrs M.M.80

Lexical ltems (Marks- 10)

Choose the correct answer from the given options-

Q-1 Choose the word which has a different sound of the underlined letters. (1)
(a) near (b) dear
(c) bear (d) deaf

Q-2 There was @ MUSEUM.......ccc.eceeveneeesnneenenne....the Fateh Prakash Palace. (1)

(a) between (b) in (c) upon (d) under

Q-3 Choose the similar word for the given word 'beautiful'. (1)
(a) mask (b) ashes
(c) pretty (d) victory

Q-4 | learned this work ............. e & (1)
(a) herself (b) itself
(c) himself (d) myself

Q-5 Complete the following words with the help of letters given in the bracket. (a, e, i, 0, u)
(1+1=2)
i. D _ng r
ii. Br_ _m

Q-6 Fill in the blanks to make correct sentences with the help of words given in the bracket
(fort, week, weak, brush) (1+1=2)
i. Chittorgarh .........cccecceveeveeureune...... is the symbol of bravery.
ii. There are seven days iN @ e eeeesees e



Q-7 Make new words by adding the suffix 'ly' and 'ness’. (1+1=2)
i.  Quick
ii. Lazy

STRUCTURAL ITEMS (MARKS-24)

Q-: 8 Arrange the jumbled letters to make meaningful words - (1+1=2)
i. PURELP e nramenmtamsans sy sn s et as e AL

Q-: 9 Write the opposite gender of the given words - (1+1=2)
i. Lion

ii.  Girl

Q-10-13 Complete the passage and fill in the blanks using the words from the bracket.

(grand, dressed,great, money, moment) (2+2+2+2=8)
At last the (10).....ccccceeeeeeeveeeveecennne..... day arrived! Roshanlal had enough
(11).eeeeieeceeeee et reane e smeeseneennenenas 1O DUY the fastest car in the country. He
(12)eeeceeceiecieeeeee e e saeeseneennnn. CAFefully for the moment and reached the
(13)eciiiceeee e e, ShOWTOOM.

Q-14 Tick T for true or F for false for the following statements which are given below.
(with reference to the prescribed textbook) (6X1=6)

i.  Kalibai cut the rope with a knife.
ii.  Pranayam increases our heart rate.
iii. The atmosphere of the school should be friendly.
iv. Ramleela describes the story of Ram.
v.  The Pond started to dry as there was no rain.
vi.  Kirti stambh was built by Rana Kumbha.

— — — — — —
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Q-15 Complete the sentence by matching column A with column B. (6X1=6)

Column- A Column-B
(i) (a) | controls traffic.
(ii) @ (b) | traffic rules.
(iii) | Traffic police (c) | causes cancer.
{iv) | Always obey (d) | Speed limit 40.
(v] | Tobacco (e) | injurious to health.
(vi) | Smokingis (f) | Take U-turn.

Reading Comprehension and textual Question (Marks- 30)
Q- 16-18 Read the passage carefully and answer the questions given below.

One fine day, when the rats were playing, they heard loud shouts of elephants coming from
the direction of the pond. Mooshakraj realized that elephants were in some danger. He asked
some of the strong rats in his group to come along, and went in the direction of that sound.

Near the pond, they saw the elephants caught in the traps kept by some hunters. The rats
quickly started biting the ropes with their sharp teeth. Soon the elephants were set free. They

thanked the rats and also felt sorry for making fun of their small size.

Q-16 (i) What did the rats hear? (2)
(ii) Why were the elephants shouting? (2)
(iii) Read the passage and write plural of the following words. (1+1=2)
a) Rat S e R
b) Tooth R
Q-17 (i) What did Mooshakraj ask? (2)
(ii) Where were the elephants caught in the traps? (2)
(iii) Read the passage and write the opposite of the following words from the passage.
(1+1=2)
a) Weak =
b) Big =
3
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Q-18 (i) How did the rats help the elephants? (2)

(ii) Why did the elephants feel sorry? (2)
T S A B R B A B B s S A R s s
(iii) Read the passage and write similar words for the following words. (1+1=2)
a) Loudcry =
b) Capture = .

Q- 19-20 Read the passage carefully and answer the questions given below-

Miss Fox was really disappointed with her students. They were all beautiful, brave and
capable, but each was so proud of his or her qualities that they did not care about the
other. Everyday they would come to jungledom, the best school in the district. Rabbit was
proud of his quick speed. Nightingale was proud of her sweet voice. Miss Fox was upset
with their attitude. She tried to teach them that every person had a place and a purpose in

life. Only if they work together, the world would be a happy place, but in vain.

Q-19 Answer the following question.

(a) With whom was Miss Fox disappointed ? (2)
Ans:
(b) What was the name of their school ? (2)
Ans:
(c) For which quality was rabbit proud of? (2)
Ans:

Q-20 Answer the following question.
(a) Who had sweet voice? (2)

Ans:

12



(b) What did Miss Fox try to teach her students? (2)

Ans:

(c) Read the passage and write one word for the following sentence (2)
.  One whois strong and without fear. B___

WRITING (Marks- 16)

Q-21 Imagine you are Arijeet/Manasvi studying in GUPS Raipur. Write an application to
your Headmaster to grant you leave for three days as you want to attend your cousin’s
marriage. (8)

Ans-

Date

Respected Sir/Madam,

Youes % ... &

13



OR

You are Khushi/Himanshu. Your friend got selected in Navodaya school. Write a letter to your

friend congratulating him/her on his/her success. (8)

Date

My Dear

Yours lovingly

Q-22 Complete the story "The fox and the grapes"” with the help of words given in
the bracket. (wanted, jumped, food, garden, fox, grapes, hungry, sour, sweet)

(8x1 =8)
Once upon a time, there was a (1)..cceveieeieeeeiiicesrsesennnenn.n. 0NE day, It felt very
[2)eneneeiienneneetsnsitienssennenenenne. |1T WeNt here and there in search of (3).ccecocceeineeiiiininene.e.
reached a (4).....cc.c.ccvecceveveeveccceveeeeeeeeee.. There it saw a bunch of ripe grapes. It
(oW sy 1oy eat o the (Bhosrssnssannnisiassis
The grapes were high. It (7)..ccoeieiiiieiiiiiiiiieeeieeeee v @t them again and

again but could not get them. It was sad. It said that the grapes are

(8)-ceeieeseneeeeeeneeeee. @and went away.

14



OR

Look at the picture given below. Write four sentences with the help of following
words.  (wild, king, forest, big, roars, sharp teeth) (4x2 =8)

Ans-

(a)

(b)

()

(d)

15
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Primary Education Learning Level Evaluation -2025
s /Class-5
favg —uateror eega=
Subject- Environmental Studies
il U

Sample Question Paper

w7a / Time :2.30 =ve / Hrs.
o/ M.M.80

JqeId UG g9 BT (3fH—08)
Observation and Recording (Marks - 8)

¥ foy T Ao § ¥ 98 oo g4
Choose the correct option from the given option
o1 = 8 9 o 9 @ g -

(1)
(&) 3o & (8) VST B S@ATA AT
() IIv=T HT & BT

(2) TR B FET HA

Which of the following is a work of queen ant- ( }
(a) Laying eggs
(b) Take care of eggs
(c) To safeguard their eggs
(d) To protect their homes

ye 2 = # 3 S weror uiferdt I @1 Ag 27

(@) gEr_ (@) Rad
(¥) ARgAT @71 Ure 84T (8) &1 IR H ardped
()
Which of the following is not a symptom of polio-
(a) Fever (b) Headache

(c) Yellow tinted anils (d) spasms in hands and legs

[
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Ue: 3 VYT U9 Uhdl UNAR F 97 iR &7 fofag(@E o) (6)

What are the difference between joint and nuclear family? Write(any three)

gy / Ans
Ty (rfefad / ==l) sfd—12
Communication (expression/discussion) marks — 12
U 4 AT H ATo9 fhaw 999 T el &7 (1)
(@) 34 °S @192 (@) 10 & 12 "€ (8) 7 98 Hc
G 1
How long does the food remains in the stomach?
(a)3 to 4 hours (b) 3 to 4 hours (c) 3 to 4 hours (d) 3 to 4 hours
[1]
U 5 S H gEl @ AT SR g gl 2 faray (@ OF) (3)

What else is there in a forest besides trees? Write (any three)

gaY /S Ans

Ue: 6 (i) SH ST 99 H I BT DI WM BT AHAT HIAT TS 87 (SIS 1)
(4x2 = 8)

What problems do people face while settling at another place? (any two)
ga¥ / Ans

(i) wmiR® semar & qEvE @ § Far ey drgar g 8?
2
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What special abilities do people have despite physical disabilities?
g3/ Ans

(iii) Tei—HEe # FE R T @ T IR &7

What are the reasons for garbage and dirt in the streets and colonies?

goax /S Ans

(iv) FF-2F ¥ O 5 TTEER)E To o &

What are the games played in closed place/homes?

gy / Ans
Fifteryor Hee (3iFH—11)
Classification (marks - 11)
U 7 U 3R 9Y UINe dedl d a9y R W 8- (1)
(1) BT 3rid (@) &< o
() e (&) afaar
()
Water and residual nutrients are absorbed by-
(a) small intestine (b) large intestine
(c) stomach (d) oesophagus
[]
ve 8 fen man R wefa 8- (1)

(&) oM FrE= F1 U™ (3) =i W
3
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(|) =5 UgoTd (@) 'a' @ 'q A

The given figure is related to- ( )
(a)protection from worm infection (b) personal hygiene
(c) clean drinking water (d) both 'a' and 'b'
[1]
U¥ 9 WM A H W™ T ¥ e Fifig— (3x1=3)
ESEs I T
(1) T (A) F
(2) ueav=Eel (B) &=
(3) == (C) =it
Match Column ‘A’ with Column ‘B’
Column ‘A’ Column ‘B’
(1)Rose (A) Seed
(2)Bryophyllum (B) Stem
(3)Chickpea plant (C) Leaf
U 10 S $ Ul BT O H S 9R @& P Bis AF faeg foiag— (3x2=6)

If the plants that grow on land are grown in water, then what will happen? Write any

three points.
gTY / Ans

RET FHRAT/ ey & (iF—17)
Explanation/Analysis (Marks - 17)

e 11 Bed | & Ty el 9 Rea == a6t gil Fifki (3x1=3)
(Rars, wieiy, wied))

Fill up the blanks from the words given in the bracket-
(irrigation, aquatic, Very fast)

I 222 A g |

(o] {0 30 L3 o PSSP o |- 3 |
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(2) TBHAT BT T T oot se e ssoeesseesenns FHEAT & |

Supply of water to the cropsiscalled........oooo e

(3) T U BT A0S TRA U H Ao ol Wil 2 |
In hot water,the substances dissolve ..................... in comparison to cold water .
we: 12 (i). 3iaRe @ &= # €1 fasw 9vmE & 31 dF arreE faRkay | (3+3=6)

Write any three contribution of Dr. Vikram Sarabhai in the field of space.
gY / Ans

(ii). amye Ra # S—ad wwe 9 ot 2 Rikau@E 9E)
Which all crops are grown in your district? Write (any three)
goe / Ans

(4+4=8)

g 13 (i). FSF GRET 8 SF—SEY IR FHEl BT gied H¥ET 9iiey? s 9r)
lEon] |
Which all traffic rules should be followed for road safety? Write any four rules.

goaY /S Ans

(ii) "Su= NG 7= F B | SHST THULN qE HIAT M} ! FId A9 P O H @A 7Y
BIE BT WA BT | S |

"The fuel exists in a very limited quantity. We should not misuse it. "' Keep the above
sentence in mind and make two slogans.

20



gy / Ans

¥ BT (3F—00)

Questioning (Marks - 09)

U 14 Mg 3 Reg U/ a9 9 GG SESN Ui $3E & e A1 U a1 R

i (3x1=3)
Make three guestions to collect the information related to well/pond situated in your
village.
g7 / Ans

yo: 15 f= fm &1 e 31yt o1 fAmi Fifeg

Looking at the following picture construct any three questions (3x1=3)

21



Y/ Ans

gee. 16 "THT H Ao Siesl WM B AT € 1" 39 99 o wgE 1 FEir S |
(3x1=3)

In summer season, food spoils at a faster rate. Make three question related to this.

goY / Ans

YA T (FF—12)
Experimenting (Marks - 12)

U 17 TR & T @ fog Sifde @g &1 FEr o9 917 (3)

How will you make organic fertilizer for your home’s garden?

gaY /S Ans
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U¥ 18 TSI $ 9o 5U ABRI DI Dl O AFadl & =3 g=e— (3x1=3)

Draw any three figures of the changes in the shape of the moon.
g<iY / Ans

() @ (3)

ge: 19 (i) I W adg &= ¥ == &1 A fed ot &+ 8, a1 @ e (3+3=6)
If the walls of the houses in the coastal regions are madeup of mud, then what will
happen?

ga¥ / Ans

(i) O @ U@ 9E 9 9RE-UTH 31 99 87 By oM SR gy |
Generally why do people settle down in one place, near to each other? Write any three
reasons.

ga¥ / Ans
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Y 9 G 3 IR TRBR (#HE—04)

Concern towards justice and equality (Marks - 04)

U 20 YE¥] UN &3+ & (oY fb—fhe q1ai &1 eu= ® @er arfey— (1)
(@) uedl 31 ghen FuiRd ®IE 9 UR SR 91ey |
(@) =T T YT BT IR FRE F YS! 91¢ UF §¢ o |
(M YoId BT 31 45 aRae & A9 F IR TE A ARy
(g) SR w4

Which things we should take care of, while crossing the railway tracks?

1. Should cross the rail tracks from definite place.

2 While crossing unmanned rail track, first see on the left and right side.
3. Should not cross the rail track under the closed bariket

4 All of the above

U 21 29F & A= YR Ud $9a SUANT & (oI diferes! &1 AEir Hifeg— (3x1=3)
Make a table for different types of fuel and their uses.
gY / Ans
&4 /5.No. e Bl H / Name of fuel FUAN / Uses
1.
2.
3

TH TR & DI BT T G oI DI T ST (@5—07)
Respect and appreciate each other's work and equality (Marks - 07)

ye. 22 Ugifera® & YfE@Heo ¥ 999 aren ygrl Fg 87 (1)
(@) el &S
(@) ug
(M Sl
@) =R

The foll

=}

wing substance is not made from purification of petroleum-
Synthetic rubber
Petrol
Vaseline
Charcoal

i o A
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ge=: 23 (i) Sused @ AR H 9w orgva fafag | (3+3=6)

Write your experience about any museum.

gTe / Ans

(ii) TETSl W 97 w® FN @ FEre @ o #1891 gema difeg |

Give any two suggestions for disposal of trash(garbage) on the mountains.
&Y/ Ans

10
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yreifie R siftrm wR Jegies — 2025
PET—5
fag—f=a
T T TA
TG~ 2.30 U quifd —80

g, USHY AT SR fora=r (e) sie—22

e w8 Sar & 99T -
Tv—1 'WWWW%WWW it efi— 1
(@) F9dR (1) S=afE a‘ﬁ
(@) =g @ () wra ()
Y¥—2 §¢ Meadl WRER U6 @ IR WYGR Ucd @ o b9 IRaR | g’ 1
(1) Tus gRar # @) gt gRaR H
(|) e oRaR (5) =t gRar # ()
Y3 SFaT ERT Gl TS ISR DI BEN Sl & 1
(GT)'\’TEI?H
(3) W=
()
® WW ()
Y4 WRER A% $1 417 & || N@ifed e # e g— 1
(a1) areoT TWUER (@) g9 =EER
(@) mfad @gEr () WY Sa9ER ()

Y¥—5 'TT Sl P YEEW &, e oef § suedr| 39 YR 9% B & oY

qaT3y— 1
(&) e (@) = o
(=) =TT A (8) <@ Te ()
U¥—6 ‘AU a%G U6 B AIER aFl 9% f6us Y wer # w2 o 3
BT i e e S e S
Y¥—7 ‘GO AANUSR W 39 g1 §HE 827 3
£S5 oS
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yei—9 Afaad ey &1 eaFyds dgdk A fGU Y ueHl @ SR feRay—

GaE SR B IRE Ugd Ol ol gYdl Bl Aol GEeR g @ UTeIr B B
TS T T | SR Ugd | Bled H S8 | (AR e} gad el | W99 uEd e
P TE@ T4 g | fra e uerel R &9 g B g9 Baee am @ f o
STl & | HERTGS Id oiE9e J I9aT FEiT dRamr| g9 yeE die, ddie | '
U g1 & I UEd| fFal & weo ff uRRl @ & g ¥ 9Bl w9 T A4,
Al AEd, o9 Afay <@ | ARGl & |9iF Wi B |

(@) TRl B ol fasr ame & off 2 2

3 E[ ! T e e i A e m s e o o e a1 i i, mmm o o PTI O  OO T

(@) S e e U=l W) 991 g3 § ? 2

() e & FTER fover @1 Fwie s wRaran ? 2

3 EE ! e e O 3 S et 1y 1 B et S s 8 e i

(&) TEY & FTAR FEH a1 <@ ? 2

3 EE ! TP - o e O i g i M g S o e S e

TGl UgPHY HHSH 3R fora= (=) sid—13

ye—10 Ifd & 3% U & FTUR T | I fFae! garar ™ § ? 1

(a1) T @1 (&) #ATE Br
(®) T 31 (@) fr ()

ye—11 Rad = #1 gfd Sifeg— 3x1=3
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yv—12 fF=fafag sl & 99 231 aef 9 fam sy 6x1=6

U@ TS ()

LEE] (ar) =gTeTER

ENT (@) dreE

BRI deT T () A&t FAT
Hiedl Sre (8) WE™ET FHeAT
EIEGHS (@) ampTer
gfererdt (®) e

oo s N

U¥—13 ‘g2 ¥ R 91 9%, 9 e Us Wi | ufdd &1 @ arey 27 feur IREee— 3

IS ATHIT (3iH—13)

Y14 ‘Tolld’ &1 9IiOarE! g &— 1

(&) TR (8) Serw
(|) WRER (3) 9w

ge—15 Frafaiad gereRi &1 ardl J 9T Sifeg— 1
i, A g |

uv—16 fFefoRag v sreet &1 gt § wghT Fifen— 1
. U=

i. He (1)
W_
ii. Pl (1)
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ye—17(31) F=foleg o=sf @ g arf IaF 9 U 95 §9150— 3x1=3
. g@ -

TTR =3 SO SOOI

iii. TR —

{)WW%WWWWW— 3x1=3
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T¥—19 A9 GO TRIEE s 9OqR § BE 99 © | 39 WERGYE ol B S
! W& A G Bq OF G99 & o@ery g wrHEr o faRar— 6

yei—20 Fifha @7 dsell W afid Rl @ WEEdl § yP U YeHl @ Swe giii—
6x1=6

o | 8] | < 2.

al|a|8l|5

| |-ql | 2|
Al as
mi Al ol

i. foras U afe g9 8 —
ii. oifE & wuEarE e et ottt et ettt et ettt
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y—21 FA=feafaa & 9 f5d e fAug w f{Ey fafta—

() eI Sifar
(@) wgfer Hom

() i BT TWER STEen
(@) == fim =
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Raeir HerTar sid— 08
TII—22 (31) AU HEN HE P WH—THS 5q MY F—F FU° (Pls TR) 4
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grerfires TR SiferTH WR Jodidd — 2025
Primary Education Learning Level Evaluation -2025
P — 5
CLASS -5

Subject- Mathematics
T T IS
Sample Question Paper
gy — 230 9O qulies — 80

Duration 2:30 hours Max.Marks — &0

AMH[T Td ®IF & 99T (3iF—7)
Understanding of shape and space (marks-7)

¥ 1 2R T ¥ AR P 3:00 9 T B e T € B GE ST TR0

T BT 8- (1)
(&) =g BT (@) Aferw BIoT
(@) DI (&) AXE BIT
()
What is the angle made by the hour hand and minute hand of a wall clock
at 3:00pm-
(a) Acute angle (b) Obtuse angle
(c) Right angle (d) Straight angle
[ ]
e 2 d9i% B GERET ¥ P F5Y- (2+42+2=6)
Make the following angles with the help of a protractor-
L A BIT/Acute angle
Il.  ¥f8® BI/Obtuse angle

33
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. S BIV/Straight angle

T §F D FAS (3i5—16)
Understand the number syatem (marks-16)

¥e 3 W Ry v fwfa wu dEn w9 8- (
20000+9000+400+00+3
(=) 29403 (1) 24903
() 24930 (=) 20943

The number form of the following expanded form is-

20000+9000+400+00+3
(a) 29403 (b) 24903
(c) 24930 (d) 20943
[ ]
W 4 0.37 BT O~ W9 BF—
37 37
) 10 @ 100
0.37
@) o ()3T | BIg TE
()
The fraction form of 0.37 is-
37 37
(a) 10 (b) 100
Ll d) Non of the ab
(E]IBD (d) Non of the above
[ ]

e 5 AR <) S Gl 9 Bl ¥ 98 () w9 ¥ fafag— (2+2+42=6)

Write the following numbers in smaller to bigger order (ascending)-

I. 49512, 43905, 39703, 49012
9T / Ans

1)

(1)

Il. 44743, 44734, 44344, 44444

gaY / Ans
. 65743, 65456, 66435, 66653
gy / Ans
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w6 fAfofaa weET o1 8 Biforg— (4+4=8)

Solve the following questions-

30% / Ans

AT 99T W 12 <ifthal Al 81 98 39 <ifhai @1 6 Tl #
TREN—aUEN sfeAT Omgdl 8, O V0 # ye I= 9 fHant b
forerf?

Mamta bought 12 toffees from the market. Now she wants to divide these
toffees among 6 children, then how much toffees will each child get?

3TY /S Ans

T AieYHEied 10 ey Ugia # 420 fhariey off g i & o
Ta1Ey & 98 20 e Uga ¥ el o o vl ?

A motorcycle covers a distance of 420 kilometers in 10 liters of petrol, then
find how much will the motorcycle cover the distance in 20 liters of petrol?

W 7 10
I
Il.
118

v Y THE (3F—24)

Understanding of the basic mathematics operations (marks-24)

D IER R faraq fafae— (1+1+1=3)
15 &1 fdgeq
7 &7 fage™
16 &1 fage=

Write down the deviation of numbers on base 10-

Deviation of 16

Deviation of 7

Deviation of 16
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U¥T 8 W 2011 A TIVFT @ ATHR PISIATST a7 6324 ARAY oI 5084
Iy &, O Fawel i @ g e e 87 (3)

According to the census of year 2011, there are 6324 women and 5984 men

in Katarwara village. What is the total population of the village—
g9q% / Ans

Ut 9 SNMAE (& a7 g el @ WioFrery | an 2| HieHed # @
Tl WIS BT Yed 125 ®9Y €| FIE 9 991 ¥ 11 g9 dF g8l 35 Aidedl A
Ao far a1 gaEy 35 @fdadl 4 gd fFa w9l urd gv? (6)

One day Anshuman went to his father's restaurant. In the restaurant, the cost per
plate is 125 rupees. 35 people has taken the lunch from 9am to 11am. Find how
much money was received from these 35 people have paid.

&g¥ /S Ans

T 10 G DI 2 B H HAL 18 WieY 9 24 wilex U W £ 9% W g 904
F1 Y 1B, S SF DA B qH DI YR R A FDH? (6)

Two milk containers are filled with 18 and 24 litres of milk respectively. What will
be the greatest measurement of a container that can measure total milk of both
the containers exactly.

&g¥ /S Ans
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ye: 11 F=fefag et 31 59 Sifoe— (3+3=6)

Solve the following questions-

1. B2 BT @t @ R
Write the missing digits-
4 9 3
s
2 5
2. 25 91 U 3 o f&d S@& | 7o fFar 9 f& I« & 318 9 €218
EN B ®IF R I AW B
Which one digit number is multiplied by 25 to get 0 in both unit and tens
place?
3Te / Ans

A9 B A (FHH—25)
Understanding of the measurement (marks-25)

U 12 5 wU¢ H U9 B g (1)
(= 50 (@ 5
(®) 500 (8) 5000

5 rupees contains paisa-
(a) 50 (b) 5
() 500 (d) 5000
I 1

ST 13 US AT $1 ol 10 w9 50 U9 2, a1 A 1 4 |igA &1 g -
(1)
(@) 10.50 & (8) 42.00 &
(®) 60.50 & () 40.00 &

k]

The cost price of a soap is 10rs 50p, then what is the cost of 4 soaps.-
(a) 1050 & (b) 4200 &
(c)60.50 = (d)40.00 &
[ ]
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ROUGH WORK

_— 6 &
e 14 30 0 w9y &1 Bfael § uRafda #ifw— (1+1+1=3)
Convert the following in minutes-
1
(i) 2 ¥ 121 RO OOURRR 1. | i [~
1
2 - ROUrS: = connssnmm e minutes
1 % hours — s minutes
g
(iii) L e — fafye
5% hours — . MiNUteES

T 16 Il SR 9 1 [HUT 400 UM SHIER, 550 UM ST =1 3 fhuT 200
YA TMOR W HY AT el H @ 8| Feoll | 96D ol H AR
fepa @er? (3)
Sunita bought 1kg 400 grams tomato, 550 grams coriander and 3 kg 200
grams carrot and put it in her bag. How much is the weight of her bag
increased with vegetables?

9T/ Ans

U 16 T 5 & (el g1 &l g wicdiiar § gal T gRAl BT A9 g9

UPHN &— (1% +1%=3 )
e IR — 1 Hiex 20 TEHe
W — 1 HieX 10 T<He
=T — 1 HieX 70 TeMeY
49®h — 1 #Iex 30 9<Hex
qaTar — 1 #Iex 50 H=Mex
6
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R el g8 e a2

gTY /S Ans

i. Wad ®9 g fha aal TeY

go? /Ans

In long jump competition of class-V boys/girls, measurement of the jumping
distance is as follows:

Laxmi Narain = 1 meter 20 centimeter
Preeti = 1 meter 10 centimeter
Reena = 1 meter 70 centimeter
Deepak = 1 meter 30 centimeter
Babita = 1 meter 50 centimeter

(i)  Which student jumped the longest distance?
3uY /S Ans

(i) What is the shortest distance jumped?
3T/ Ans

w17 F=fefaa vt @ sa Fifee— (3+3=6)

Solve the following questions-

i. TP TR HEF & IR TaHL TH H RErg S g0 Hew o Sl
ar e @ e ST F—

To complete four rounds of a square field himanshu has to walk 80 meter,
then find the side of the field.

gTY /S Ans

39
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i. UP TS B oFETE 10 HieX 9T IS 9 Hew ¥ 39 IS & &%
ST BT |
The length and width of a tile is 10 meter and 9 meter respectively, find the
area of this tile.
&gTY / Ans

U 18 fr=fefae uw=l 7 g Pifore— (4+4=8)

Solve the following questions

i 1 A ¥ e dew gy e

How much liter of milk will we get from the given measurements?

a} 1 + 1 + 1 + S00mil
e wileR iR
____H_.a' —® L .‘___ar,,x'
= siansessns g NiLET
b_) 1 . + S00ml + 200ml
oex |
"\-\-..__,_.o-\’j 'H.___\_.u-'/. "‘---____,_ﬂ-"
T eereranenes wrev/liter

ii. U® FTcl Ul @ Sdl B IUR I WAl & Wafh Shl & A o A9d 899
TH I YT qEN e €1 IS SW el F9 U ue H 25 wie] Al
WY AT 91 91T 1l U HE H 10 #ex UFl §1eY ol a1 4 62 & 915
g H it 31 A Bad 2rf, afg uw | €91 Rema @l 8@ ?

40
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A water tank is filled by a tap from above while it is emptied by another tap
at the bottom if the above tap fills with the speed of 25 liter per hour and
the bottom tap drains it with the speed of 10 liter per hour. After 4 hours
what will be the amount of water left in the tank.( imagine initially the tank
was empty)

3uY /S Ans

siwel #1 waue & e & ¥ (5io—8)
Understanding of the data handling and pattern (marks-8)

w19 f2v v Yo F aprell weenm wnfi- (1)
8 88 B e
@) 20 @) 24
(H) 32 (%) 40

The next number of the given pattern is-

2, 4,8, 16, e
(a) 20 (b) 24
(c) 32 (d) 40
Il
s 20 fear war Yo guiar 8- (1)
o o [+] o o 0 o oo
o 0o o 0O 0o oo0
o (=] o [+] o o : : :2
(o) T HEe B (@) Brieia Sl a1
(w) B9 3t Bl () =9 § DI T8
()
9

41
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The following pattern shows to-

[+] [+] o o o0 o o oo
o o o O o oo
° [+] [+] o o o0 °ceoo
0O 0o oo
{(a) Square number (b) Triangle numbers
(c) Cube number (d) None of the above
i
T 21 TEU T TSB! T ERT WSD YOI WAIB B AR wa fvar T e
fa= forfeaa anferer ad — (1+#1+1=3)
qrEd B AW 2ol oA T
d1ex AEfdhd W1 W1 111 14
ThHeR Wi 1l 7
Bl 1] 3
DR W1 W1 11
TAPT DY TARI—
1. HEY WGIE] O dTdd a8 S o0
LS [y O My NS S
2. 99 ¥ o e Whey o
T T R st S i i e o s o S S e S T A S S T e
3. el o dlEAl B HET T 87
W_

Varun and his team had done survey during the road safety week. From which
thay made the table .—

Name of vehicle Tally marks Numbers
Maotor cycle W1 14
Scoote K 1l 7

Bus 1] 3

Car W I 11

See the above table and answer the following question—
1. Which vehicle passes the most?
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"ot 22 F onferer # Renféfal & we & fmex Selifigs omge | gt

o () = 10 fenfiat #r zuiar 8-

(1+1+1=3)

HET faenfifal & wer

ceifag

L.
IL.

mw Q0000

Count the number of students in the following table and put the tally marks. Here

the symbol @ = 10 students.

Class No. of students

Tally Number

L. @@
1. @ @ @

mn 100000

11

43

ROUGH WORK
6



urIfie Rem sifer™ wR JedieT — 2025

PET—5
gy
T W O
THT— 2.30 T quries —80
Sgfapeure® Ue M 1 @ 6 TN

ey S TR FRR Fiod forag—
TIF—1 W o ag ARG | 1

(&7) gferrEmya (@) oA gRSH

() e (=) et ()
YI—2 AERIYAYR AR A4 AfRd— 1

(&) BTt (%) 1

(w) T () sra ()
Y3 gl fRHaw | widem— ’

(1) =fevaray

(3) e

(W) e

(=) e ()
T¥—4 ISGAT AT Hafd - 1

(&) TETEEA (8) Aot

(W) TgTSer (=) T = ()
W¥F—5 ATl WU ARA— 1

(1) T (@) gfmn

(\) *fromar: (=) W ()
o6 o arfie— 1

(@) dee (=) = )

44



RTINS TET: 7 T 14 T

We—7 wed R gear SdE A gaed daw- 4x1 =4

(@) FIferaTa:

@) qreHife:

(|) JEET:

@) L
U8 () IR SNeudl & g gda i’ 2
Sl

(@) REFR ST ygEn T gvaia? 2
T

Y¥-9 ¥ WeTH TR 3 USq WE el Yot dedl v fa— 4x1=4

T =
™
S G
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U¥F—10 Pod Yen Fewgane Req A wa<—

THT ..
TAF:

BwoNop

g1 (1) G4 FF Sefa?

FIH—

T e, TR ATEB | (U, USTRY U& G99)

4x1=4

(@) ¥ AT FARIA gl o & & raw?

FTRA—

W¥F—12 GEUATRErd &1 e fora—

i1

2x2=4

14 & Wrew @ WoSH WE gadd fad—

' qUsy
() srafarel Teado
() T =T e
(M) U™ T e

(4) iR deisETs
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AERRIHSILL: 15 20 TA=IHq

¥—15 FoETa: SR e Rewemr wag 5x1=5
(ageig, IEEREH, Salfd, TN, URH, AIfcrevgad, A, Afdld, |gm)

YTT—16 DD TG eaNY e e drafdmn ferag— 5x1=5

B R R A A Y SRR | (JF, wor thaaE)
2. o ——— e ogd: weasutartal (), g gwaam)

B i i i i T WTEH AR | (@], YR UHTTTH)

B S S SRS gqa: Faafd | (MR, v agg=m)
WI—17 garaeaed Wy Reqerd gea=g— 5x1=5
VSN \= =1 I < | £«
5. eeeeeeseeee e (ge) et =i |

YTI—18 O] EfTFuead Raowar Ifaawd qRa<— 5x1=5
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(@) (2) e BN |

() I L) TEed: |

(1) (26) woooooceccec s fegar |

(&) (77) oo BT |
() (0) woomeee T |

1.

2

3,

4

5.

U—21 ARG HHYT GRII—

T A, |
B e S |
=T : SO ORI [
- T - o
T AN |
B T st S A R |
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N

(8) =Tl TqH YEOIURY SIUETe: $ HSdhd qalde

l-x4=6

l-xa4=0s6

55 2
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